HEBRE S VB — 99 — 166

Z 4 B ERk 12 £ 2 B 25 R

WIAH AN — X T 7 A /X—EE8Ef D

Br 2tk e R B R S &

KRR, AEEDOLB) THEH I LETNLET,
Tk 12 & 3H27Ei

MEEA A AEERT N g
OB Imﬁ@ﬂ%lﬁ‘l 7R
BEEE @“‘:ié"‘f )
BESABEE T2 Euﬁi




VB99166—-1,/2

g & i & | EAEEESAH
| BT #E | BHREATPRITE2E15%
% I 5 T2 MiIAZ BN G — X T 7 A /S— W EEF
TR} TJrANR—x—2Z LFG
BMES L HREEKEXESH
Rl e ag | TRI1I2E2ASH
oy FEE 120208
£ B T ¥ | 860 X 860 X EX 100 mm /A%‘ﬁEé] 100 mm
‘ RIEER 23.7 kg/m’®
= B B E S W NI 25 kg, m
BIEHE% 23.6 kg/m®
s | % |l g 8Y
s & M =] [(FREREE - RERNEMER]
T §10 n 1522%1522 :
5 | 860 + } 910%910 : ‘
— Qn‘
) ‘ ﬁj%ﬂ%,
= 8 - i . . OO | 1
ik - T
R = e“' - T
°| g AL LBREIR / "‘[—‘ 8w -
i (B 10) .- I7y = =
s &k e b= o] —
,,,,, e L I .
DRIt Rt BRI
<) @Qg \ HEkaE
% oA 2 BEND-X774 18- bRttt
5 /umw
{:%.‘ ‘i% mooB & BYRFLLT—A JE300
] REESTE 910X 910 X500
‘ \ts 16 E= L BiIEIR HBRE LR . Kk¥E
| (B 10) 2w F M LA
[ B RYZFLY D4 — L Z:E H }ﬁl i% H l/'%fﬂ'fﬁu 0-5111/590%?
|I (I‘5 25) INER 0. 5m/secEd T
! RBREMHET : H4BERE (20°C. 55%RH)
i (SHEEAL : un)
® OB OF E JIS A 1420-1994 THEREEH R UM OW B ERERER s |

MEEAN BARERE

AERET



& IVB99166—2,/2
| A B £ B A Yot 12 &£ 3 B 6 R
i % M £18 | ®2@ | HsE | Ham
| 3 #, b e (W) 16. 6 16.6 16.6 16. 6
BB BE D DR HEE Qe (W) 11.7 11.7 11.7 11. 7
MR BB ME Qe QuQc (W] 49 4.9 4.9 49
: M HANZERFEYRE Bca (°C) 14.3 14. 3 14.3 14. 3
5| —
5 2 ﬁgi % & = R 8 e (°C) 15. 6 15. 6 15. 6 15. §__
OEOE B g om o 6 1is C) 33, 5 33.5 33. 5 33,5
4 MBA TR EHEREE 0 ya (c) 34.8 34.8 34.8 34. 8
BB E EBH B E (0gstbcs)/2 (O 24.6 24. 6 24.6 24. 6
AREREFHIREZE 6us-0cs (0 17.9 17.9 17.9 17.9
P mmEss s EsREE Bpa-8ca (C) 20.5 20. 5 20. 5 20.5
' HERA PR EBEH A (o) 0.7396 ( 0.860%0.860 )
, |
Zh B i R 2 B -~ _ _
;oo v HF s H R ..
ClQu/ (88 os) Al [W/(nf - K)] 0. 37 0.37 | 0. 37 0.37
s =
2O' O Wm O’ OB | 2. _ _ -~
Re1 /K (nf- K/W)
" S )
£, Ro=1,0 (ni-K/W) 2.70 2.70 2,70 2.70
i D BREBREIIHSFTIZHR AR, 20°C, S5%RHOTEIRIEE=MIZCT 1 0 AR, S83E4E LT,
‘! - BLOOBVE 1 W=0.86 kcal/h
- FRYBGER = BEHEX S EHEBIERE = 0.1,72.70 = 0. 037 (W/(m-K))
L &
|
S om M B 4 MEEAN BEBERSRRET BEDHEI BEXRE
o FTEf : REEAFRETER RS TESE 1 &
R R E ML E| ZERRE- 2 B 2B %
® OB OB Y EF| X &F B O o

MEEAN  AARBER SRR




